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§ gfortran -0 macout mac. for
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Prograim mac

parameter(imax = 30, jmax = 30)

real*8  p{imax jmax). pn{imax jmax), g(imax jmax)
real*8 dx. dy. pmax pmin. norm

integer 1, J, nx, 0y

character a(imax_jmax)

uimax jmax). v(imax jmax). un{imax.jmax). vn{imax jmax)

diimax ymax)
dt. re. tmpl. tmp2. tmp3. error

integer nb

character b{imax jmax). c(imax jmax)

dt=02:re=1:
de=1;dy=1:nx=20;ny=20

c.. imitial condition

doi=1nx:doj=1, ny

u(1j) =0.
vi1g) =0.
p(11) =0.
pu(Ly)=0.
enddo; enddo
dom=1_3000

c.. boundary condition

doi=1nx
wil)=0
u(ioy) = 0.
w(il)=0

w(iny) =0.
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doj=1 nv

doi=1 nx;doj=1.0y
i abs(p(Li-po(i))) .2t norm) nerm = abs(p(L))-pofij))
ifpa(ij) gt. pmax) pmax = pn(ij)
if(pn(i) It pmin) pmin = pa(ij)
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c..  velocity
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tmpl = abs(u(nx/2. 1) + re®0.05/(mx-10*1**2 - (nv+1)% + ov))
ifi tmp1 _gt. error) error = tmpl
enddo

c.. graphics
1fimod(m 100) .eq. 0) then

write(*.*) m. error. Wnx/2.0v/2)

doi=1nx:doj=1.ny
if{p(ij) le. pmax*1.0 ) al1y)="9"
if(p(1) le. pmax*0.9 + pmin*0.1) a(1j)="8'
ifip(ig) le. pmax®0.8 + pmin*0.2) a(i.j)="T'
ifip(1) le. pmax*0.7 + pnun*0.3) a(13)="6"
1fip(1g) le. pmax*0.6 + pnun*0 4) a(1y)="5'
if(p(1) le. pmax*0.5 + pmun*0.5) a(1,j)="4'
if(p(i.5) .le. pmax*0.4 + pmin*0.6) a(i,j)="3"
if{p(ig) le. pmax®0.3 + pmin*0.7) a(i.j)="2'
1fip(1g) le. pmax*0.2 + pnun*0.8) a(1y)="1"
1fip(1g) le. pmax*0.1 + pnun*0.9) a(1y)="0"

end do; end do

doi=1 nx:doi=1 nv
b(1.1)="0"
end do; end do
doj=1_ny
nb = mi(u(nx/? 31*75)
doi=1 nb
bl1g)="'
end do
end do

doi=1nxdoj=1_nv
c(i])="0'
end do: end do
doj=1 nv
nb = mt{(-re*0.05/(nx-1)*(3**2 - (ny+1)*; + ny))*75)
doi=1. nb
cLp)=""'
end do
end do




&

doj=ny1-1

write(*.*) (a(1y).1 = Lox). '

(b(Ly).1 = Lox).

“(e(11)1= 1.nx)

end do

write(* %) '

_ endif

end do
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